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SET-3
Series BVM/3
Code No 59/3/3
S 4.
Roll No. ?%ﬁ%ﬁ' ST %5 3

Candidates must write the Code on the
title page of the answer-book.

o FHUAI G F A foh 580 TA-97 H Higd Y5 19 7 |

o THUA H qfe TN H AR U MU Sig T HI BH IW-YEH ® @IS W
g |

o FHUA AT A h 30 IHIT H 27 A F |

o  HUAT U T ST TTEAT & I | UgSA, T 1 shilTeh a9 {1 |

o U WU Wl UG o [T 15 e 1 w0 fean mn 8 | w9 1 faawon qatg
T 10.15 & fopaT IT@TW | 10.15 991 T 10.30 S b D had YT I TeTl
3R 38 AT & GHF d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 19 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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POLITICAL SCIENCE

FeiRa 77 : 3 T2 S7ferBaH 37% : 100
Time allowed : 3 hours Maximum Marks : 100
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HTHTT (3397

(i)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

gyt go7 7T & | 3G FeT-17 § FT 27 ¥97 8 | F7-u7 i @uel §
farisra & |

GUS 37 § Y7 G&IT 1 -5 7% Y% J97 U 376 #1 & | 9% J97 H I
20 Isg] @ 37ferF 787 g7 T30 |

GUE § § J97 G&IT 6 - 10 TF Id% Y97 @1 37H] &1 & | Jodbh I3 HT TN
40 Y551 & 37l 787 5197 F17T |

GUE T § J97 &7 11 — 16 TF Icd% Y97 &R 3H] &7 & | Id% J97 H ITH
100 37551 @ 37ferF 787 &7 T30 |

GUE 7 H J97 G&IT 17 - 21 T Icdeh §97 Gidl 37h] &7 & | I J97 H T
150 5i&5) @ 37fo 787 g7 TfaT |

GUE 7 § ¥o7 &g 21 HARET W OEIRG 94 & | §E9% IR I
FT-GiEdT 4 1e7iEe |

GUE T § Y97 G&IT 22 — 27 % IAF Y97 B: 3l T & | IIF Y97 HT TN

150 155 @ 3718 757 &7 3T |

General Instructions :

)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

In Section D Question number 21 is a map-based question. Write its
answer in your answer-book.

Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.



Qs A
SECTION A

1. ‘T % 9n b fefafed 8 @ eF-ar s a8 g 2 1
(a) T H AL B, $S <A 1 TGAN qAT TS |

(b) & H1 AY 7, G, MUk MW [SHIdh Wk b HROT fopet <3 h
qYAT |

(c) o= faerfba e bl U T} fomivar 2 |
(d) e FaUs Eedl, JA GIRE USg, hi T TR hid B |

Which one of the following statements about ‘hegemony’ is correct ?
(a) Hegemony means cooperation and alliance of some states.

(b) Hegemony means dominance of a state due to military, economic
and political power.

(c) Hegemony is a permanent feature of the developed countries.

(d) Hegemony always neglects international organisations like the
UN.

2.  Hifoyd g9 & foeed o a1, T g1 1 36k TIH W TYH TS JRaar giwg i
Tl HERIAT U B ? 1
rera

TR R 6 el 3 a5 3g@ HT | Lyo-1

2
After disintegration of the USSR, which country got the permanent
membership of the UN Security Council in its place ?

OR

Mention any two components of traditional security.

597373, 3 P.T.0.
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gfgaft Tesyd qu g Tedud swuw: foRu-fehm fommeTn @1 wfaffea

3 2 L.
2 2

HAAAT

fg-gftorar & o7q & @ Afmy 3 2 1

Which ideologies were represented by the Western alliance and the

Eastern alliance respectively ?
OR

What does the end of bipolarity mean ?

4. 1951 ® AR TS 9TeT i fo=REm § SH-A1 §&T 9eaE TR ? 1

What was the major change in the ideology of the Communist Party of
India in 1951 ?

5. TOdIdl o 9UF, YT o fafehd & a1y geg S5 9 2 1

What type of relations did India have with Sikkim at the time of
Independence ?

g us
SECTION B

6. 1990 T HeA HHIM I FwIEn w An FH + fhdl g yumEl # v
T | 1x2=2
CREN
TSfe e — AT qHEian 319 aifod 382 H Hal d ahal g3l ? 2

Analyse any two effects of the implementation of the recommendations of
the Mandal Commission in 1990.

OR

How far did the Rajiv Gandhi — Longowal Accord succeed in its desired

goal ?



-
b0

T & Aifd feves fgeat & @ @ ol @ fagral &1 avla Hisie e
ALY ARSI Sfe 3T FR&AT Sl FETal <7 7 | 1x2=2

AT

T Gl SaTetalld 488 g d &d3 <20l & 919 T5eh s o oy, fehu o
forgl 3 TamEl o1 9ue I | 1%2=2

Describe any two Directive Principles of State Policy that aim to promote

international peace and security.

OR

Describe any two efforts made by the Prime Minister, Jawaharlal Nehru

to establish contacts between India and other newly independent

countries.
8.  gfcra Ho < SIS o QM Sfetd Ti@ehl o YHeT T Heaiehd hiT | 2
Evaluate the role of Dalit writers during the Dalit Panthers’ Movement.
9. T AT T B’ H fgu T i o Sredqul fremm Hif §x4=2
Ty A’ 7y ‘B’
(a) =l =R g (i) ST A 1 EAH A
(b) SIS HAlSE (i) Hfagm a9 o1 go
(c)  SWIS{leH T| (iii) WA 1 TG F=i (1979)
(d) @ |9 A=, 1977 (iv) Iotd <l ggdTd, 1974

Match the facts given in Column ‘A’ with those given in Column ‘B’ in a

meaningful manner :
Column ‘A’ Column ‘B’
(a)  Chaudhary Charan Singh (i) Janata Party came to power
(b)  George Fernandes (i1)) Member of the Constituent Assembly
(c) Jagjivan Ram (iii) Prime Minister of India (1979)

(d) Lok Sabha Elections, 1977 (iv) Railway Strike of 1974
591313, 5 P.T.O.



11.

12.

13.

T 3 fava Ig & WA HI T o AT 1 TRIIREAT i S1ET LA ATl Th

YIE HROT IATR HIT | 2
YT

ek ST o HRUT HHIE ®I U T B aTcdl AT hedT0T shl TR sqaEAT hi

fepegl 2 ferdivaradi 1 SR I | Dxz=2

Highlight any one major reason that compelled both the superpowers to
avoid the risk of another world war.

OR
Highlight any two features of the old system of social welfare that got
destroyed due to shock therapy.
Qs v
SECTION C

Y| gEayty AT 3R fgd ey Jiemn % o ®E @ IgE ITd TR
HITT | 2+2=4

e
1948 H BT & W H foao & foru Iawerl) afifeafaat i samen fhifs | 4

Explain any two major differences between the First Five Year Plan and
the Second Five Year Plan.

OR

Explain the circumstances that led to the accession of Hyderabad to India
in 1948.

AME.TET. (IAEA) 1 Toiqd €9 &1 28 ? 39oh fohral oM I I IAFR
i | 1+3=4

What is the full form of IAEA ? Highlight any three functions of IAEA.

TS I AIYAT I WRATT GROMST G AT 1 T9E hE BT g ? T
SIS | 4

How does globalisation affect traditional conceptions of State
sovereignty ? Explain.
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14. 1975 H AN fRU T HATITGRIA o G ohl 75 Tohral TR TehR h SATGIAAT I
Fuiq HIfT | Ixd=4
areran
1967 § WRA # §C Ige T G o fohea] R GOl &1 3g@ HIT | 1xd=4

Describe any four types of excesses made during the Emergency imposed

in 1975.
OR
Mention any four outcomes of the fourth general elections held in India
in 1967.
15. =W H PN o Feie & gl Ir gsIwmEi %1 aui hHifg | Ixd=4

Describe any four negative consequences of the privatisation of
agriculture in China.

16. CETd dieed o A § Wl T=itd hl IR IO hl TRl § TIL

HIT | Ixd=4

HAYAT
S 61 I3 =R foRIvATd Tee T | Ix4=4
Explain the U.S. hegemony as a structural power with the help of four
examples.

OR
Explain any four features of ASEAN.

Qug g
SECTION D

17. = fu Tu sreaor @1 eHgEs steE Hifve i fEfafgd g % IW

fofe -
TGN 3R §ear & o718 feufadl sgefl | §AR Adistl i f=rdi 88 fob 37

AT & STMEYR W YT ST T AT Y ITAGEAT el Fehdll g T G b ge Wl
TA UG B ThAT 8 | I8 ft I fF sHE @ % A AW Al o=
THTTR-3TTR A | €I Weh Hehdl & | 3Td: hrgld qcd - 39 HE I
Tl e =T e fom=m |

59/3/3 7 P.T.O.




() e a1 fauSE % SR 9Rd | 5 fREl T ged 9iEdd i 3SR
i |

(i) Taawr 4 3fgRaa wron & fafes, 9d & s9T S & ToH & e
ITRerRf fohgl €1 31 RN &1 3g@ HifST |

(i) 39 TM I Hal & S TAF AN 4 FAT G AR F ? DI Th
IETELT AT | 2+2+1=5

AT

f= fou U s w1 eEYEs e hifve o Fefafed s % W
fefiam -

W % Al fGe i § wagH SHelt 1952 WOl g¢ | g AfEH,
HAagH TR HAUHT § %ol B8 HaH ol | gl § IRfigari & o= geprean Wi
BT — 3EaA & HIE o fIIT AR 3rfigar gAmE o 4G H o | i 5 36 g
# wg-Iget el i — Por Hagrarstl # Y | 3tk 3 HagH % e ST
die ST | 9 gAEl % IO BiNd gY, @ gRA ol IFigard 4 off &
aftormt s frsqer S | greiE auEs AT R % 36 YA 4 STAleh] 6
g 5ig L e |
(i)  HEHH Sk AATeR & 7 I 7 2
(i) 1952 M TATEl T AT B8 HEH T o g &l SRV T HIWT |
(i) WRA W 1952 H §T Il § I8 HH g & I & fop ghen # & ot

Alhdsl 9 3T fRaT ST FehdT 2 2 1+2+2=5

Read the passage given below carefully and answer the following
questions :

Things changed after independence and partition. Our leaders felt
that carving out states on the basis of language might lead to disruption
and disintegration. It was also felt that this would draw attention away
from other social and economic challenges that the country faced.

Therefore, the central leadership decided to postpone matters.......



18.
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) Highlight any one major change that took place in India due to
independence and partition.

(11) Mention two more reasons other than the ones mentioned in the
passage, which were responsible for the postponement of carving
out states.

(iii) Why was this postponement challenged by some local people and

where ? Give any one example.
OR
Read the passage given below carefully and answer the following
questions :

Most parts of the country voted in January 1952. It took six
months for the campaigning, polling and counting to be completed.
Elections were competitive — there were on an average more than
four candidates for each seat. The level of participation was
encouraging — more than half the eligible voters turned out to vote
on the day of elections. When the results were declared, these were
accepted as fair even by the losers. This experiment of Universal
Adult Franchise proved the critics wrong.

1) What is meant by Universal Adult Franchise ?

(i1) Explain any two reasons due to which it took about six
months to complete the first general elections in 1952.

(i1i) How did the elections held in 1952 in India prove that
democracy could be practised anywhere in the world ?

f= feu MU o w1 eHgEe AR i iR FEfafied Tl % I
fafau

T U 9RO 3 Ig 1 HEIH o ®9 H FIT | HEISEIG JUMTSA
USaTe JUTTelt ohl USTS 9T AT T8l — I8 To=RERIcHeh 9aT1g 316 his gel gl
W@ | 3 Ig & 39 fIarg 9 A1 TR i ISR o, R i 9 e IE
off, Ty MW & T= i dgEr T of ... , 3T Ig & THE B §
ﬁmﬁ@@%ﬁwﬁﬁaﬁt@qﬁmaﬁwﬂwwwgam
() MA@ TG A TH-GH § 3IA &l 4 TSEEHT o W fAfen |
(i)  BfEm < Big 7 fopg T & 3 hl 91 39 6l 2 T i |
(iii) 7] BT % T= @ Afvges qatawr & fow s wee wau =i auE

ST | ? 1+2+2=5

YT



= ST T AT T AMYEH AT hiwg R Ffcafad Tt o IW
forfgu .

Te-foruerar w1 219 deeydn w1 gd A off 78 § | derydn & 1 g
? OEIq: Ig H WA 9 8 i Aifd 1 e BT | qeEar i Hifd i g
F 9Tl <9 % w7z TE0 T 98 Ig B a9 A § Heg R | W ™
Ig U g 81 g AR T & g o Hel-Td 8 b IR H IR his 94 gl
3 | 3TEA H3 HRN § e-Fue <, few wia ot i g, gg | wmia g
g
(i)  Te-FRderan = aftafya i |
(i) Te-FRuerar qun qewear # 3T Tuse Hifs |
(i) T-FRUE X FH % NG, TS <N g H A Fi §Y ? I3 TH HR
Jfe | 1+242=5

Read the passage given below carefully and answer the following
questions :

It meant the end of Cold War confrontations. The ideological
dispute over whether the socialist system would beat the capitalist
system was not an issue any more. Since this dispute had engaged the
military of the two blocs, had triggered a massive arms race and
accumulation of nuclear weapons ........ , the end of confrontation
demanded an end to this arms race and a possible new peace.

(1) Name the two alliances that were in confrontation during the
Cold War.

(i1)  Why did the arms race lead to a demand for peace ? Explain.
(iii) Why was accumulation of nuclear weapons considered as a
great danger to the global environment ?
OR
10



Read the passage given below carefully and answer the following
questions :

Non-alignment is also not neutrality. Neutrality refers
principally to a policy of staying out of war. States practising
neutrality are not required to help end a war. They do not get involved
in wars and do not take any position on the appropriateness or
morality of a war. Non-aligned states, including India, were actually
involved in wars for various reasons.

) Define Non-alignment.
(ii)  Differentiate between non-alignment and neutrality.

(iii) Inspite of being non-aligned states, why were some states involved
in war ? Give any one reason.

19. = feu mu T @1 eamgEe reren i o fefafaa st % s fafe

SARES Nt

im:*

(i) O (TE.TARH) @1 forga &9 fafen |

(i)  red | HYal i feafd &, wRa 3R qifrea™ o dgd # 91 dew fieran
22?

(i) W ¢ & 9 TrEYl Sl YA H, A hl A%Adl Hl AThaH
HIfTT | 1+2+2=5

597373, 11 P.T.0.
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Study the cartoon given below carefully and answer the following

questions :
_\_l'}.__mf'
) Write the full form of SAARC.
(ii)) What message is being given by the placement of seats in the
cartoon with respect to India and Pakistan ?
(iii)  Assess the success of SAARC in improving the relations among its

member states.

g :  [Hrikciiad geT Facr givatad giandar & o, 97 G819 F T W E

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 19 :

(19.1)
(19.2)

(19.3)

(19.1)
(19.2)
(19.3)

‘arh’ w1 faeqa w9 faf@m |
1991 ¥ 9RA a7 9 o = ra=dl 1 ATehed hINT |
“UNd & FS TTHR 3T IRF o SR, 3Hh TSI <M HT $Eh! HId

W I HET AT B |7 hIS Teh IUTH doh ooht 30 HA i gfe
HIST | 1+2+2=5

Write the full form of SAARC.

Assess the relations between India and China after 1991.

“Given the size and power of India, its neighbours are bound to
be suspicious of India’s intentions.” Justify the statement with
a suitable argument.

12
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20. 9 fou MU s w1 eamyde TerEA e o frefefed wwEl % I

A <hT G WHifa <mr < eriaftsh geam awenstt @ fues it dard §
S ot | TR STHTEAE] TRl 4 THI-HHT W R ¥ T FH I IR
H1 | YR 7 TSI Tehdl 1 91T WA o [T cAehdii—=eh THITdeh sIaedT i
HOATT 3T e fepar |

(i)  TorT T & & STATTEETedl § YR & 3T B bl hIfSTST shi ?
(i) 3T9eh fomm ®, ramEaTdl Wgl i, YRd ¥ T B I G

form =imr a6 3 8 2 v dhifsw |
(iii)  ATeRdifIeh TSHITdeh FarEer ford 3 alienl & WRa <Al fafaaar § wear =
S W | gRIdT Hid! & ? 142+2=5

Read the passage given below carefully and answer the following

questions :

The Indian security strategy is geared towards meeting
security challenges within the country. Several militant groups,
from time to time, have sought to break away from India. India has
tried to preserve national unity by adopting a democratic political

system.

(1) The militants of which two areas have sought to break away from

India ?

(i1)  In your opinion, how far is the demand of the militant groups

to break away from India justified ? Explain.

(iii)) In which two ways does the democratic political system help

to bring unity in diversity in India ?

597373, 13 P10
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21. WRA % fou U UoHifds @IAHRE (Y8 16 W), H 9= TSAT 6
@, ®, ©, © aw ® gra cofan T 2 | A9 @ T THFR h YR W
T 1 TgaH T R o uft IR-Ygfeast & 39 @@l am, T i W

SHeRR] bl ShH T qAT Tral-ad &R, e <1 T8 diieiehl & ®9 H fIRau :

(1)
(ii)
(iii)
(iv)

(v)

TN bl TS SRR
1 HY-G&IT

grafad 3181

T 1 A

6)

(ii)

(iii)

(iv)

v)

I8 T & gfcrd Yord ATHe TS 1 T4 1972 7 g1 |

I8 TSI S8l 9er gUer iy fea 2 |

8 TSI T8l 9 WRA fohd™ = o TohM1 T STTaiad I fohaT o |

8 U= @ s1=ae 370 & Faria faem it feam mam o |

I8 99 YT Y9 S 1987 § Teh TS &1 |

14

1 ><5=5



In the given political outline map of India (on page 16), five States have

been marked as @), B), ©, @ and @ Identify them on the basis of

the information given below and write their correct names in your

answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no. of the
information used

Concerned
Alphabet

Name of the
State

1)

(i)

(iii)

(iv)

v)

(1) The State, where the organisation called Dalit Panthers was

formed in 1972.

(i1) The State where Sardar Sarovar Dam is situated.

(iii) The State from where BKU started the farmers’ agitation.

(iv) The State which was given a special status under Article 370.

(v)  The Union Territory which became a State in 1987.

597373,

15

P.T.O.



EIE;' =
Elidn
T 9. 21 & fow For question no. 21

TR T {@I-Ue (T ifeen)
Outline Map of India (Political)
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Fig:  [rkifad 37 Fac gieartaa qhemfdal & oG, 97 871 21 % T W

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) HER U &y form Tsu 1§ foorg 3 2

(21.2) 39 TS o1 AW faifae & 1961 5 gamd o =0 & T o 7=
o |

(21.3) WSl A e T GEATeh Id1 i o7 2
(21.4)  TorE TST I 3= 370 @A a9y i feam T g 2
(21.5) T TsT ael-fodt oTeeq & fw ST S @ 2 Ix5=5

(21.1) In which State is Sardar Sarovar Dam situated ?

(21.2) Name the State which was liberated from Portuguese control in
1961.

(21.3) Who was the founder leader of the Mizo National Front ?

(21.4) Which State has been given the special status wunder
Article 370 ?

(21.5) Which State is known for its Anti-Arrack Movement ?

@UE T
SECTION E
22. g WIS AYT 98 ¥ HENl o STA9g, HRA o H(Uehal TSiHIfdeh gl o o=
3! g3 WA I Toheal o9 STl T JUM HIT | 2x3=6
rera
T Sl Al TSI H ST STTehietteti, Tan 6t arsigit a9 & dqed
% g I JUH hIT | 3x2=6

Describe any three elements of consensus that appear to have emerged
among most political parties in India in the midst of severe competition
and many conflicts.

OR

Describe the importance of regional aspirations, power sharing and the
regional balance in democratic politics of India.

597373, 17 P.T.0.
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23. YIH qAT ATAGE o A1 HRA < TSl 1 GUMH hHITIT | 3+3=6

STraT
I (TLUHZ.T.TA.) & foqa &9 fafgu | onfeam & fregl 3 3e9ai o1
3g@ I | Th e Ted & T H 3Tk foheal @ I H GUH
HIIT | 2+2+42=6

Describe India’s relationship with Bhutan and Maldives.

OR

What is the full form of ASEAN ? Mention any two objectives of ASEAN.
Describe any two functions of ASEAN as an economic association.

24. Uit fagm o foeneff & ®9 4, 9 1975 § AN T AYTGhTA & HiH-H o
gash Higd B ? 2x3=6

AT

HI TH 1 IUTT GATET S 1969 H g Uil bl oy A s dshd & | 2x3=6

As a student of political science, which three lessons do you learn from
the Emergency imposed in 1975 ?

OR

Suggest any three steps that could have helped the Congress Party to
avert a split in 1969.

25. HERIRAT gRT BIS < o F1Y r-Y ST T o [T ThiNd o aTcl feheal
TR HIOT 1 zeryur Hif | Zéx4=6

AT
ifead 99 & faered & fou ITer forgl I Sron &1 fagey i | 1§><4=6

Analyse any four reasons that tempted the super powers to have

relations with smaller states.
OR

Analyse any four reasons responsible for the disintegration of the USSR.



26. “YNd % UgA I AW TAEI W, HIUH U oh YYcd B WA TSI hi
TAhAI Thid T hIg TehRIcHe YNTE T8 981 |” 39 %o o 98§ H hI5 aF
e AT | 2x3=6
Frere

“ara g @] foh U fafya stelouawen % Hisd i STAHT THAET qe
cfequr aferrt AT &% g Gare i T8 |7 W HUT o U H HIs dH deh
AN | 2x3=6

“Dominance of the Congress Party in the first three general elections in

India, had no negative effect on the democratic nature of Indian politics.”

Give any three arguments to support the statement.

OR
“The model of mixed economy adopted by India was criticised openly from
the left and the right.” Give any three arguments to support the

statement.

27. vty o foig 1 TRt WA o STVE! o1 SRS HIT | 6

JrqaT
TTeRut fTeRtor < Tkl & e % fig sidisdia ¥ W gu, fohegl dF
YTl ATl hl I Shifvru | 2x3=6

Explain India’s experience in resisting globalisation.

OR

Explain any three environmental movements at the international level to
challenge environmental degradation.

597373, 19



